# Bright and Dark Soliton Solutions of the (2 +1 )-Dimensional Evolution Equations 

Ahmet Bekir ${ }^{a}$, Adem C. Cevikel ${ }^{b}$, Özkan Güner ${ }^{c}$ and Sait San ${ }^{a}$<br>${ }^{a}$ Eskisehir Osmangazi University, Art-Science Faculty<br>Eskisehir, Turkey<br>${ }^{b}$ Yildiz Technical University, Education Faculty<br>Istanbul, Turkey<br>${ }^{c}$ Dumlupinar University, School of Applied Sciences<br>Kütahya, Turkey<br>E-mail(corresp.): abekir@ogu.edu.tr<br>E-mail: acevikel@yildiz.edu.tr<br>E-mail: ozkan.guner@dpu.edu.tr<br>E-mail: ssan@ogu.edu.tr

Received April 17, 2013; revised January 17, 2014; published online February 20, 2014


#### Abstract

In this paper, we obtained the 1-soliton solutions of the (2+1)-dimensional Boussinesq equation and the Camassa-Holm-KP equation. By using a solitary wave ansatz in the form of $\operatorname{sech}^{p}$ function, we obtain exact bright soliton solutions and another wave ansatz in the form of $\tanh ^{p}$ function we obtain exact dark soliton solutions for these equations. The physical parameters in the soliton solutions are obtained nonlinear equations with constant coefficients.


Keywords: exact solutions, bright and dark solitons, Boussinesq equation, Camassa-HolmKP equation.

AMS Subject Classification: 35C08; 35Q51; 35Q68; 37K40.

## 1 Introduction

The nonlinear evolution equations (NEEs) with a nonlinear source arise in many scientific applications such as mathematical biology, diffusion process, plasma physics, optical fibers, neural physics, solid state physics, chemical reactions and mechanics of porous media. It is well known that wave phenomena of optical fibers and nonlinear dispersive media are modeled by dark shaped tanh ${ }^{p}$ solutions or by bright shaped sech ${ }^{p}$ solutions. Nonlinear evolution equations are difficult to solve and give rise to interesting phenomena such as chaos. Nonlinear wave phenomena of dispersion, dissipation, diffusion, reaction and convection are vital importance in nonlinear evolution equations. In
the past decades, many methods were developed for finding exact solutions of NEEs as the tanh-sech method [15], extended tanh method [8, 9], sine-cosine method [22], first integral method [10], Jacobi elliptic function method [14], $\left(\frac{G^{\prime}}{G}\right)$-expansion method [21] and F-expansion method [1].

Much experimentation has been done using solitons in fiber optics applications. The theory of optical solitons has made spectacular progress in the past few decades. There have been many advances made in the area of nonlinear optics [13, 18]. Solitons in photonic crystal fibers as well as diffraction Bragg gratings have been studied. In addition, theories of dispersion managed solitons,quasi-linear pulses have also been developed [7]. Dark solitons are also known as topological optical solitons in the context of nonlinear optics media [6]. It is known that dark optical solitons are more stable in presence of noise and spreads more slowly in presence of loss, in the optical communication systems, as compared to bright solitons $[3,16]$.

The paper is organized as follows: in Section 2, we derived the bright and dark soliton solutions of nonlinear Boussinesq equation. In Section 3, we apply the ansatz method to the Camassa- Holm- KP equation and establish many solitons solutions. In last section, we briefly make a summary to the results that we have obtained.

## 2 Boussinesq equation

We consider nonlinear $(2+1)$-dimensional Boussinesq equation is given by [11]

$$
\begin{equation*}
u_{t t}-u_{x x}-u_{y y}-\left(u^{2}\right)_{x x}-u_{x x x x}=0 \tag{2.1}
\end{equation*}
$$

Tascan et al. [17] obtained some solitons solutions and periodic solutions by using the sine-cosine method. More new double periodic and multiple soliton solutions are obtained for the generalized $(2+1)$-dimensional Boussinesq equation in [4]. Chen et al. [5] study $(2+1)$-dimensional Boussinesq equation by using the new generalized transformation in homogeneous balance method.

The bright (non-topological) soliton solution. The solitary wave ansatz for the bright (non-topological) 1-soliton solution of (2.1) is taken to be given by the form $[2,19]$

$$
\begin{equation*}
u(x, t)=\lambda \operatorname{sech}^{p} \tau, \quad \tau=\eta_{1} x+\eta_{2} y-v t \tag{2.2}
\end{equation*}
$$

Here $\lambda$ is the soliton amplitude, $v$ is the soliton velocity and $\eta_{i}(i=1,2)$ are the inverse width of the soliton. The unknown $p$ will be determined during the course of derivation of the solutions of equation Eq. (2.1).

Therefore from(2.2), it is possible to get

$$
\begin{aligned}
u_{t t} & =p^{2} \lambda v^{2} \operatorname{sech}^{p} \tau-p(p+1) \lambda v^{2} \operatorname{sech}^{p+2} \tau, \\
u_{x x} & =p^{2} \lambda \eta_{1}^{2} \operatorname{sech}^{p} \tau-p(p+1) \lambda \eta_{1}^{2} \operatorname{sech}^{p+2} \tau, \\
u_{y y} & =p^{2} \lambda \eta_{2}^{2} \operatorname{sech}^{p} \tau-p(p+1) \lambda \eta_{2}^{2} \operatorname{sech}^{p+2} \tau,
\end{aligned}
$$

$$
\begin{aligned}
\left(u^{2}\right)_{x x}= & 4 p^{2} \lambda^{2} \eta_{1}^{2} \operatorname{sech}^{2 p} \tau-2 p(2 p+1) \lambda^{2} \eta_{1}^{2} \operatorname{sech}^{2 p+2} \tau \\
u_{x x x x}= & p^{4} \lambda \eta_{1}^{4} \operatorname{sech}^{p} \tau-2 p(p+1)\left(p^{2}+2 p+2\right) \lambda \eta_{1}^{4} \operatorname{sech}^{2 p+2} \tau \\
& +p(p+1)(p+2)(p+3) \lambda \eta_{1}^{4} \operatorname{sech}^{p+4} \tau,
\end{aligned}
$$

where $\tau=\eta_{1} x+\eta_{2} y-v t$. Thus, substituting this ansatz into (2.1), yields the relation

$$
\begin{align*}
& p^{2} \lambda v^{2} \operatorname{sech}^{p} \tau-p(p+1) \lambda v^{2} \operatorname{sech}^{p+2} \tau-p^{2} \lambda \eta_{1}^{2} \operatorname{sech}^{p} \tau+p(p+1) \lambda \eta_{1}^{2} \operatorname{sech}^{p+2} \tau \\
& \quad-p^{2} \lambda \eta_{2}^{2} \operatorname{sech}^{p} \tau+p(p+1) \lambda \eta_{2}^{2} \operatorname{sech}^{p+2} \tau-4 p^{2} \lambda^{2} \eta_{1}^{2} \operatorname{sech}^{2 p} \tau \\
& \quad+2 p(2 p+1) \lambda^{2} \eta_{1}^{2} \operatorname{sech}^{2 p+2} \tau+2 p(p+1)\left(p^{2}+2 p+2\right) \lambda \eta_{1}^{4} \operatorname{sech}^{p+2} \tau \\
& \quad-p^{4} \lambda \eta_{1}^{4} \operatorname{sech}^{p} \tau-p(p+1)(p+2)(p+3) \lambda \eta_{1}^{4} \operatorname{sech}^{p+4} \tau=0 \tag{2.3}
\end{align*}
$$

Now, from (2.3), equating the exponents $2 p+2$ and $p+4$ leads to

$$
2 p+2=p+4
$$

so that $p=2$. From (2.3), setting the coefficients of $\operatorname{sech}^{2 p+2} \tau$ and $\operatorname{sech}^{p+4} \tau$ terms to zero we obtain

$$
20 \lambda^{2} \eta_{1}^{2}-120 \lambda \eta_{1}^{4}=0
$$

which gives after some calculations, we have $\lambda=6 \eta_{1}^{2}$. We find from setting the coefficients of $\operatorname{sech}^{2 p} \tau$ and $\operatorname{sech}^{p+2} \tau$ terms in Eq. (2.3) to zero:

$$
-6 \lambda v^{2}+6 \lambda \eta_{1}^{2}+6 \lambda \eta_{2}^{2}-16 \lambda^{2} \eta_{1}^{2}=0
$$

we get

$$
\eta_{2}= \pm \frac{1}{3} \sqrt{9 v^{2}-9 \eta_{1}^{2}+24 \lambda \eta_{1}^{2}-180 \eta_{1}^{4}}
$$

Similary, the soliton velocity $v$ is found from setting the cofficients of $\operatorname{sech}^{p} \tau$ terms to zero in Eq. (2.3) that

$$
4 \lambda v^{2}-4 \lambda \eta_{1}^{2}-4 \lambda \eta_{2}^{2}-16 \lambda \eta_{1}^{4}=0
$$

also we get,

$$
\eta_{2}= \pm \sqrt{v^{2}-\eta_{1}^{2}-4 \eta_{1}^{4}}
$$

Thus, finally, the 1-soliton solution of (2.1) as follows:

$$
u(x, y, t)=\lambda \operatorname{sech}^{2}\left(\eta_{1} x+\eta_{2} y-v t\right)
$$

The dark (topological) soliton solution. In order to start off with the solution hypothesis, the following ansatz is assumed:

$$
\begin{equation*}
u(x, t)=\lambda \tanh ^{p} \tau, \quad \tau=\eta_{1} x+\eta_{2} y-v t \tag{2.4}
\end{equation*}
$$

where the parameters $\lambda, \eta_{i}(i=1,2)$ are the free parameters and $v$ is the velocity of the soliton. The exponent $p$ is also unknown. These will be determined from (2.4) it is possible to obtain

$$
\begin{aligned}
u_{t t} & =p v^{2} \lambda\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\}, \\
u_{x x} & =\lambda p \eta_{1}^{2}\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\}, \\
u_{y y} & =\lambda p \eta_{2}^{2}\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\}, \\
\left(u^{2}\right)_{x x} & =2 p \lambda^{2} \eta_{1}^{2}\left\{(2 p-1) \tanh ^{2 p-2} \tau-4 p \tanh ^{2 p} \tau+(2 p+1) \tanh ^{2 p+2} \tau\right\}, \\
u_{x x x x} & =p \eta_{1}^{4} \lambda\left\{\begin{array}{l}
(p-1)(p-2)(p-3) \tanh ^{p-4} \tau \\
-4(p-1)\left(p^{2}-2 p+2\right) \tanh ^{p-2} \tau \\
+2 p\left(3 p^{2}+5\right) \tanh ^{p} \tau-4(p+1)\left(p^{2}+2 p+2\right) \tanh ^{p+2} \tau \\
+(p+1)(p+2)(p+3) \tanh ^{p+4} \tau
\end{array}\right\},
\end{aligned}
$$

where $\tau=\eta_{1} x+\eta_{2} y-v t$. Substituting these equalities into (2.1), gives

$$
\begin{align*}
& p v^{2} \lambda\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\} \\
& \quad-\lambda p \eta_{1}^{2}\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\} \\
& \quad-\lambda p \eta_{2}^{2}\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\} \\
& \\
& -2 p \lambda^{2} \eta_{1}^{2}\left\{(2 p-1) \tanh ^{2 p-2} \tau-4 p \tanh ^{2 p} \tau+(2 p+1) \tanh ^{2 p+2} \tau\right\} \\
&  \tag{2.5}\\
& \quad-p \eta_{1}^{4} \lambda\left\{\begin{array}{l}
(p-1)(p-2)(p-3) \tanh ^{p-4} \tau \\
-4(p-1)\left(p^{2}-2 p+2\right) \tanh ^{p-2} \tau \\
+2 p\left(3 p^{2}+5\right) \tanh ^{p} \tau-4(p+1)\left(p^{2}+2 p+2\right) \tanh ^{p+2} \tau \\
+(p+1)(p+2)(p+3) \tanh ^{p+4} \tau
\end{array}\right\} \\
& =0 .
\end{align*}
$$

Now, from (2.5) equating the exponents of $\tanh ^{2 p} \tau$ and $\tanh ^{p+2} \tau$ gives

$$
2 p=p+2,
$$

which yields the following analytical condition: $p=2$. Setting the coefficients of $\tanh ^{2 p+2} \tau$ and $\tanh ^{p+4} \tau$ terms in Eq. (2.5) to zero, we have $\lambda=-6 \eta_{1}^{2}$. Again, from (2.5) setting the coefficients of $\tanh ^{p-2} \tau$ terms to zero, one obtains

$$
\eta_{1}= \pm \frac{1}{4} \sqrt{1 \pm \sqrt{1-32 v^{2}+32 \eta_{2}^{2}}}
$$

Setting the coefficients of $\tanh ^{2 p-2} \tau$ and $\tanh ^{p} \tau$ terms in Eq. (2.5) to zero, thus the velocity of the soliton from (2.5) is given by

$$
v= \pm \sqrt{-8 \eta_{1}^{4}+\eta_{2}^{2}+\eta_{1}^{2}}
$$

Taking by the coefficients of $\tanh ^{2 p} \tau$ and $\tanh ^{p+2} \tau$ terms in Eq. (2.5) to zero, we get

$$
\eta_{2}= \pm \frac{1}{3} \sqrt{9 v^{2}+360 \eta_{1}^{4}-9 \eta_{1}^{2}+48 \lambda \eta_{1}^{2}}
$$

Consequently, we can determine the dark soliton solution for the constant coefficient Boussinesq equation.as follows:

$$
u(x, y, t)=\lambda \tanh ^{2}\left(\eta_{1} x+\eta_{2} y-v t\right)
$$

Remark 1. Stability of the following type of Boussinesq equations was studied by Kadomtsev and Petviashvili [12].

$$
f^{\prime \prime}(\xi)+\frac{1}{2} f^{2}(\xi)-f(\xi)=0
$$

Therefore, Eq. (2.1) is stable within the sense of Liapunov [25]

## 3 Camassa-Holm-KP equation

To understand the important role of dispersion in the formation of patterns in liquid drops, we considered the following water wave equations given by [23]

$$
\begin{equation*}
\left(u_{t}+2 k u_{x}-u_{x x t}-a u^{n} u_{x}\right)_{x}+u_{y y}=0, \tag{3.1}
\end{equation*}
$$

which is a typical nonlinear evolution equation, where $a$ and $k$ are real constants and $n$ is called the strength of the nonlinearity. Wazwaz obtained the solitons, compactons, solitary patterns and periodic solutions for Eq. (3.1), and their analytic expressions in [23].

Now, the bright and dark soliton solution of this equation will be obtained.

The bright (non topological) soliton solution. To obtain the soliton solution of Eq. (3.1), the solitary wave ansatz admits the use of the assumption,

$$
\begin{equation*}
u(x, y, t)=\lambda \operatorname{sech}^{p} \tau \tag{3.2}
\end{equation*}
$$

where $\tau=\eta_{1} x+\eta_{2} y-v t$ which $\lambda, \eta$ and $v$ are constant coefficients. Respectively, here $\lambda, \eta$ and $v$ are the amplitude, the inverse width and the velocity of the soliton. The exponents p is unknown at this point and will be determined later. From the ansatz (3.2), we obtain:

$$
\begin{aligned}
u_{x t}= & -p^{2} \lambda \eta_{1} v \operatorname{sech}^{p} \tau+p(p+1) \lambda \eta_{1} v \operatorname{sech}^{p+2} \tau \\
u_{x x}= & p^{2} \lambda \eta_{1}^{2} \operatorname{sech}^{p} \tau-p(p+1) \lambda \eta_{1}^{2} \operatorname{sech}^{p+2} \tau \\
\left(u_{x}\right)^{2}= & \lambda^{2} p^{2} \eta_{1}^{2} \operatorname{sech}^{2 p} \tau-\lambda^{2} p^{2} \eta_{1}^{2} \operatorname{sech}^{2 p+2} \tau \\
u_{y y}= & p^{2} \lambda \eta_{2}^{2} \operatorname{sech}^{p} \tau-p(p+1) \lambda \eta_{2}^{2} \operatorname{sech}^{p+2} \tau \\
u_{x x x t}= & -\lambda p^{4} \eta_{1}^{3} v \operatorname{sech}^{p} \tau+2 p(p+1)\left(p^{2}+2 p+2\right) \lambda \eta_{1}^{3} v \operatorname{sech}^{p+2} \tau \\
& -p(p+1)(p+2)(p+3) \lambda \eta_{1}^{3} v \operatorname{sech}^{p+4} \tau
\end{aligned}
$$

Substituting these equations into Eq. (3.1), we get

$$
\begin{align*}
& -p^{2} \lambda \eta_{1} v \operatorname{sech}^{p} \tau+p(p+1) \lambda \eta_{1} v \operatorname{sech}^{p+2} \tau \\
& \quad+2 k p^{2} \lambda \eta_{1}^{2} \operatorname{sech}^{p} \tau-2 k p(p+1) \lambda \eta_{1}^{2} \operatorname{sech}^{p+2} \tau \\
& \quad+\lambda p^{4} \eta_{1}^{3} v \operatorname{sech}^{p} \tau-2 p(p+1)\left(p^{2}+2 p+2\right) \lambda \eta_{1}^{3} v \operatorname{sech}^{p+2} \tau \\
& \quad+p(p+1)(p+2)(p+3) \lambda \eta_{1}^{3} v \operatorname{sech}^{p+4} \tau \\
& \quad-a n p^{2} \lambda^{n+1} \eta_{1}^{2} \operatorname{sech}^{p n+p} \tau+a n \lambda^{n+1} p^{2} \eta_{1}^{2} \operatorname{sech}^{p n+p+2} \tau \\
& \quad-a p^{2} \lambda^{n+1} \eta_{1}^{2} \operatorname{sech}^{p n+p} \tau+a \lambda^{n+1} p(p+1) \eta_{1}^{2} \operatorname{sech}^{p n+p+2} \tau \\
& \quad+p^{2} \lambda \eta_{2}^{2} \operatorname{sech}^{p} \tau-p(p+1) \lambda \eta_{2}^{2} \operatorname{sech}^{p+2} \tau=0 \tag{3.3}
\end{align*}
$$

Equating the exponents of $\operatorname{sech}^{p n+p} \tau$ and $\operatorname{sech}^{p+2} \tau$ term in Eq. (3.3), one obtains

$$
p n+p=p+2,
$$

which implies $p=2 / n$. By setting the corresponding coefficients of $\operatorname{sech}^{p n+p+2} \tau$ and $\operatorname{sech}^{p+4} \tau$ terms to zero one gets

$$
24 \lambda v \eta_{1}^{3}+4 a \lambda^{3} \eta_{1}^{2}=0
$$

from which we obtain $v=-\frac{1}{6} \frac{a \lambda^{2}}{\eta_{1}}$. Setting the coefficients of $\operatorname{sech}^{p n+p} \tau$ and $\operatorname{sech}^{p+2} \tau$ terms in Eq. (3.3) to zero and we have

$$
-20 \lambda v \eta_{1}^{3}-2 \lambda \eta_{2}^{2}-3 a \lambda^{3} \eta_{1}^{2}+2 \lambda \eta_{1} v-4 k \lambda \eta_{1}^{2}=0
$$

which gives

$$
\lambda= \pm \sqrt{6\left(\eta_{2}^{2}+2 k \eta_{1}^{2}\right) /\left(a\left(\eta_{1}^{2}-1\right)\right)}
$$

where $\lambda$ is an integration constant related to the initial pulse inverse width.
Finally, we get the bright (non topological) soliton solution for the constant coefficient Camassa-Holm-KP equation, when the above expressions of $p, v$ and $\lambda$ are substituted in (3.2) as:

$$
u(x, y, t)=\lambda \operatorname{sech}^{\frac{2}{n}}\left(\eta_{1} x+\eta_{2} y-v t\right) .
$$

The dark (topological) soliton solution. In this section, we are interested in finding the dark solitary wave solution, as defined in [3] for the considered Camassa-Holm-KP equation (3.1). In order to construct dark soliton solutions for Eq. (3.1), we use an ansatz solution of the form [20]:

$$
\begin{equation*}
u(x, y, t)=\lambda \tanh ^{p} \tau, \quad \tau=\eta_{1} x+\eta_{2} y-v t \tag{3.4}
\end{equation*}
$$

where $\lambda, \eta$ are unknown free parameters and $v$ is the velocity of the soliton, that will be determined. The exponent $p$ is also unknown. From Eq. (3.4), we
have:

$$
\begin{aligned}
& u_{x t}=-p \lambda v \eta_{1}\left\{(p+1) \tanh ^{p+2} \tau-2 p \tanh ^{p} \tau+(p-1) \tanh ^{p-2} \tau\right\}, \\
& u_{x x}=\lambda p \eta_{1}^{2}\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\}, \\
& u_{x x x t}=-\lambda p \eta_{1}^{3} v\left\{\begin{array}{c}
(p-1)(p-2)(p-3) \tanh ^{p-4} \tau \\
-4(p-1)\left(p^{2}-2 p+2\right) \tanh ^{p-2} \tau \\
+2 p\left(3 p^{2}+5\right) \tanh ^{p} \tau \\
-4(p+1)\left(p^{2}+2 p+2\right) \tanh ^{p+2} \tau \\
+(p+1)(p+2)(p+3) \tanh ^{p+4} \tau
\end{array}\right\} \\
& \begin{aligned}
u_{x}^{2} & =\lambda^{2} p^{2} \eta_{1}^{2}\left\{\tanh ^{2 p-2} \tau-2 \tanh ^{2 p} \tau+\tanh ^{2 p+2} \tau\right\}
\end{aligned} \\
& u_{y y}=\lambda p \eta_{2}^{2}\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\},
\end{aligned}
$$

where $\tau=\eta_{1} x+\eta_{2} y-v t$. Substituting this equalities into Eq. (3.1), we obtain

$$
\left.\begin{array}{l}
-p \lambda v \eta_{1}\left\{(p+1) \tanh ^{p+2} \tau-2 p \tanh ^{p} \tau+(p-1) \tanh ^{p-2} \tau\right\} \\
\quad+2 k \lambda p \eta_{1}^{2}\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\} \\
+\lambda p \eta_{1}^{3} v\left\{\begin{array}{l}
(p-1)(p-2)(p-3) \tanh ^{p-4} \tau \\
-4(p-1)\left(p^{2}-2 p+2\right) \tanh ^{p-2} \tau \\
+2 p\left(3 p^{2}+5\right) \tanh ^{p} \tau-4(p+1)\left(p^{2}+2 p+2\right) \tanh ^{p+2} \tau \\
+(p+1)(p+2)(p+3) \tanh ^{p+4} \tau
\end{array}\right\} \\
\quad-a n \lambda^{n+1} p^{2} \eta_{1}^{2}\left\{\tanh ^{n p+p-2} \tau-2 \tanh ^{n p+p} \tau+\tanh ^{n p+p+2} \tau\right\}
\end{array}\right\} \begin{aligned}
& -a \lambda^{n+1} p \eta_{1}^{2}\left\{(p-1) \tanh ^{n p+p-2} \tau-2 p \tanh ^{n p+p} \tau+(p+1) \tanh ^{n p+p+2} \tau\right\} \\
& \quad+\lambda p \eta_{2}^{2}\left\{(p-1) \tanh ^{p-2} \tau-2 p \tanh ^{p} \tau+(p+1) \tanh ^{p+2} \tau\right\}=0 .
\end{aligned}
$$

By equating the highest exponents of $\tanh ^{n p+p+2} \tau$ and $\tanh ^{p+4} \tau$ terms in Eq. (3.5), one gets

$$
n p+p+2=p+4
$$

which yields the following analytical condition: $p=2 / n$. By setting the correponding coefficients of $\tanh ^{p n+p+2} \tau$ and $\tanh ^{p+4} \tau$ terms to zero one

$$
24 \lambda \eta_{1}^{3} v-4 a \lambda^{3} \eta_{1}^{2}=0 \quad \Rightarrow \quad \lambda= \pm \sqrt{6 \eta_{1} v / a}
$$

where $\lambda$ is an integration constant related to the initial pulse inverse width. Setting the coefficients of $\tanh ^{p n+p-2} \tau$ and $\tanh ^{p} \tau$ terms in Eq. (3.5) to zero we get

$$
2 \lambda \eta_{1} v-4 k \lambda \eta_{1}^{2}+16 \lambda \eta_{1}^{3} v-2 a \lambda^{3} \eta_{1}^{2}-2 \lambda \eta_{2}^{2}=0 \Rightarrow v=\frac{2 k \eta_{1}^{2}+\eta_{2}^{2}}{\eta_{1}\left(1+2 \eta_{1}^{2}\right)}
$$

Setting the coefficients of $\tanh ^{p n+p} \tau$ and $\tanh ^{p+2} \tau$ terms in Eq. (3.5) to zero and

$$
\begin{equation*}
-2 \lambda \eta_{1} v+4 k \lambda \eta_{1}^{2}-40 \lambda \eta_{1}^{3} v+6 a \lambda^{3} \eta_{1}^{2}+2 \lambda \eta_{2}^{2}=0 \tag{3.6}
\end{equation*}
$$

we have

$$
\eta_{2}= \pm \sqrt{\eta_{1} v-2 k \eta_{1}^{2}+2 \eta_{1}^{3} v}
$$

Lastly, we can determine the dark (topological) soliton solution for the

$$
u(x, y, t)=\lambda \tanh ^{2 / n}\left(\eta_{1} x+\eta_{2} y-v t\right)
$$

Remark 2. Stability of this equation was studied by Zhang et al. [24].

## 4 Conclusions

In this paper, we have investigated the bright and dark soliton solutions of three variants of the Boussinesq and Camassa-Holm-KP equations by using the solitary wave ansatz method. Parametric conditions for the existence of the soliton solutions were found. We hope that the present solutions may be useful in further numerical analysis. Consequently, the method can be applied to nonlinear evolution equations with time-dependent coefficients and forcing term.

## References

[1] M.A. Abdou. The extended F-expansion method and its application for a class of nonlinear evolution equations. Chaos Solitons Fractals, 31:95-104, 2007. http://dx.doi.org/10.1016/j.chaos.2005.09.030.
[2] A. Biswas. 1-Soliton solution of the $K(m, n)$ equation with generalized evolution. Phys. Lett. A, 372:4601-4602, 2008. http://dx.doi.org/10.1016/j.physleta.2008.05.002.
[3] A. Biswas, H. Triki and M. Labidi. Bright and dark solitons of the RosenauKawahara equation with power law nonlinearity. Physics of Wave Phenomena, 19:24-29, 2011. http://dx.doi.org/10.3103/S1541308X11010067.
[4] H-T. Chen and H-Q. Zhang. New double periodic and multiple soliton solutions of the generalized $(2+1)$-dimensional Boussinesq equation. Chaos Solitons Fractals, 20:765-769, 2004. http://dx.doi.org/10.1016/j.chaos.2003.08.006.
[5] Y. Chen, Z. Yan and H.-Q. Zhang. New explicit solitary wave solutions for (2+1)dimensional Boussinesq equation and $(3+1)$-dimensional KP equation. Phys. Lett. A, 307:107-113, 2003. http://dx.doi.org/10.1016/S0375-9601(02)01668-7.
[6] G. Ebadi and A. Biswas. The $G^{\prime} / G$-method and topological soliton solution of the $K(m, n)$ equation. Commun. Nonlinear Sci. Numer. Simul., 16(6):23772382, 2011. http://dx.doi.org/10.1016/j.cnsns.2010.09.009.
[7] G. Ebadi, A.H. Kara, Marko D. Petković and A. Biswas. Soliton solutions and conservation laws of the Gilson-Pickering equation. Waves Random Complex Media, 21(2):378-385, 2011. http://dx.doi.org/10.1080/17455030.2011.569036.
[8] S.A. El-Wakil and M.A. Abdou. New exact travelling wave solutions using modified extended tanh-function method. Chaos Solitons Fractals, 31:840-852, 2007. http://dx.doi.org/10.1016/j.chaos.2005.10.032.
[9] E. Fan. Extended tanh-function method and its applications to nonlinear equations. Phys. Lett. A, 277:212-218, 2000.
http://dx.doi.org/10.1016/S0375-9601(00)00725-8.
[10] Z.S. Feng. The first integral method to study the Burgers-KdV equation. J. Phys. A: Math. Gen, 35:343-349, 2002. http://dx.doi.org/10.1088/0305-4470/35/2/312.
[11] R.S. Johnson. A two-dimensional Boussinesq equation for water waves and some of its solutions. J. Fluid Mech., 323:65-78, 1996.
http://dx.doi.org/10.1017/S0022112096000845.
[12] B.B. Kadomtsev and V.I. Petviashvili. On the stability of solitary waves in weakly dispersing media. Sov. Phys. Dokl., 15:539-541, 1970.
[13] Y.S. Kivshar and G.P.Agarwal. Optical Solitons: From Fibers to Photonic Crystal. Academic, San Diego, 2003.
[14] S. Liu, Z. Fu, S. Liu and Q. Zhao. Jacobi elliptic function expansion method and periodic wave solutions of nonlinear wave equations. Phys. Lett. A, 289:69-74, 2001. http://dx.doi.org/10.1016/S0375-9601(01)00580-1.
[15] W. Malfliet and W. Hereman. The tanh method. I: Exact solutions of nonlinear evolution and wave equations. Phys. Scr., 54:563-568, 1996.
http://dx.doi.org/10.1088/0031-8949/54/6/003.
[16] K. Nakkeeran. Bright and dark optical solitons in fiber media with higher-order effects. Chaos Solitons Fractals, 13:673-679, 2002.
http://dx.doi.org/10.1016/S0960-0779(00)00278-2.
[17] F. Tascan and A. Bekir. Analytic solutions of the $(2+1)$-dimensional nonlinear evolution equations using the sine-cosine method. Appl. Math. Comput., 215:3134-3139, 2009. http://dx.doi.org/10.1016/j.amc.2009.09.027.
[18] E. Topkara, D. Milovic, A.K. Sarma, E. Zerrad and A. Biswas. Optical solitons with non-kerr law nonlinearity and inter-modal dispersion with time-dependent coefficients. Commun. Nonlinear Sci. Numer. Simul., 15:2320-2330, 2010. http://dx.doi.org/10.1016/j.cnsns.2009.09.029.
[19] H. Triki and A.M. Wazwaz. Bright and dark soliton solutions for a $K(m, n)$ equation with t-dependent coefficients. Phys. Lett. A, 373:2162-2165, 2009. http://dx.doi.org/10.1016/j.physleta.2009.04.029.
[20] H. Triki and A.M. Wazwaz. Dark solitons for a combined potential KdV and Schwarzian KdV equations with $t$-dependent coefficients and forcing term. Appl. Math. Comput., 217:8846-8851, 2011. http://dx.doi.org/10.1016/j.amc.2011.03.050.
[21] M.L. Wang, X. Li and J. Zhang. The ( $\frac{G^{\prime}}{G}$-expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics. Phys. Lett. A, 372:417-423, 2008. http://dx.doi.org/10.1016/j.physleta.2007.07.051.
[22] A.M. Wazwaz. A sine-cosine method for handling nonlinear wave equations. Math. Comput. Modelling, 40:499-508, 2004. http://dx.doi.org/10.1016/j.mcm.2003.12.010.
[23] A.M. Wazwaz. The Camassa-Holm-KP equations with compact and noncompact travelling wave solutions. Appl Math Comput., 170:347-360, 2005. http://dx.doi.org/10.1016/j.amc.2004.12.002.
[24] K. Zhang, S. Tang and Z. Wang. Bifurcation of travelling wave solutions for the generalized Camassa-Holm-KP equations. Commun. Nonlinear Sci. Numer. Simul., 15:564-572, 2010. http://dx.doi.org/10.1016/j.cnsns.2009.04.027.
[25] W. Zhang, L. Feng and Q. Chang. Conditional stability of solitary-wave solutions for generalized Boussinesq equations. Chaos Solitons Fractals, 32:1108-1117, 2007. http://dx.doi.org/10.1016/j.chaos.2005.11.107.

